C TR EE R E (BKE)



T TR R X

® @) ® @ ® ® @
Bk Bk BOAKRE | BERAE S | ERR A s | BERR AP i 2 | ERR AP Al 2=
Efﬁﬁ aﬁzy)
DIP ¢ 75 DIP ¢ 100 | DIP ¢ 150 DIP ¢ 75 DIP ¢ 100 VP ¢ 75 VP ¢ 100 ‘é\ﬁ
DP=1.0m DP=1.0m DP=1.2m DP=1.3m DP=1.3m DP=1.3m DP=1.3m
i 397 | il 397! | HiE 39K | HuE 397U | i 397 | Wi 397 | diiE 397
AlAERR BT T t=5cm m| 1285.2 | 687.0 3.6 4.2 4.8 1237.8 | 653.6 |3876.2 | 3880
siSpREmoET | [ [
0.20BH t=10ecmLL ni| 385.4 222.6 0.9 1.3 1.4 371.3 196.1 [1179.0 | 1179
TR 1 T 0.20BH | 400.8 238.2 1.3 1.7 1.9 502.0 260.7 |1406.6 | 1410
PR T (84 1) 0.20BH m| 265.4 158.8 0.9 1.3 1.4 382.5 196.1 [1006.4 | 1010
sy T FEA T m| 105.9 61.8 0.3 0.3 0.3 77.0 42.8 288.4 288
sy T AS m| 19.3 11.1 0.05 0.1 0.1 18.57 9.8 59.02 59
e N> O N (N I R R R B S S
e T t=19cm ni| 385.4 222.6 0.9 1.3 1.4 371.3 196.1 [1179.0 | 1179
GVE ST L < I R R R R R B DR SR S
EERE T t=15cm ni| 385.4 222.6 0.9 1.3 1.4 371.3 196.1 [1179.0 | 1179
R AL =V N I I R R I N R R S
FJE T (HH) t=bcm PK3 ni| 385.4 222.6 0.9 1.3 1.4 371.3 196.1 [1179.0 | 1179




IERAERTER

il s no m;E o £oE o
O EKE HE 397 DIP ¢ 75 1.00 642.30
@ Bl K E HOE 397 DIP ¢ 100 1.00 342.50
@  EKE HiE 394 DIP ¢ 150 1.20 1.46
@ BEEREWE #E 39 DIP ¢ 75 1.30 2.10
© BEsRERE #E 398 DIP ¢ 100 1.30 2.40
® BEsREWE #E 39 VP ¢ 75 1.30 618.90
@ BEsREWE #E 398 VP ¢ 100 1.30 326.80




+TEHEE
HE 397
Bic K &

DIP ¢ 75mm DP=1.0m

R R DIP ¢ 75 MRS 1.04 m
SR 0.05 m s 070 m R+
BIFO 0.075 m B 019 m @B
AR 0.093 m BAE 015 m  FEEE
FHE S RS 060 m AS 0.05 m
PRHI R 642.30 642.30
SRR T
t=5cm 642.30 2 + 0.60 X 1 = 1285.2
EfiE R EUE T
As t=10cmPL 642.30 0.60 = 385.4
FE AR T
642.30 0.60 X 1.04 = 400.8
WERT (B4E+)
0.60 0.70 - 0.093 2
X
7 = 4 ) X 642.30 = 265.4
A TG4 1) Skt
400.8 265.4  + 0.9 = 105.9
Ly T.(AS)
385.4 0.05 = 19.3
T E A T
FAYIARA t=19cm 642.30 0.60 = 385.4
RC-40
LT
FARFRE t=15cm 642.30 0.60 = 385.4
RM-40
F=ET
HABRET 270 t=5cm 642.30 0.60 = 385.4

PK—3




+TEHEE
HE 397
Bic K &

DIP ¢ 100mm DP=1.0m

R R DIP ¢ 100 MR 1.07  m
SR 0.05 m s 073 m R+
BIFO 0.100 m B 019 m @B
AR 0.118 m BAE 015 m  FEEE
FHE S RS 065 m AS 0.05 m
PRHI R 342.50 342.50
SRR T
t=5cm 342.50 2 + 0.65 X 3 = 687.0
EfiE R EUE T
As t=10cmPL 342.50 0.65 = 2292.6
FE AR T
342.50 0.65 X 1.07 = 238.2
WERT (B4E+)
0.65 0.7 - 0.118 2
7 - X 342.50 = 158.8
A TG4 1) Skt
238.2 158.8  + 0.9 = 61.8
Ly T.(AS)
2292.6 0.05 = 11.1
T E A T
FAYIARA t=19cm 342.50 0.65 = 2292.6
RC-40
LT
FARFRE t=15cm 342.50 0.65 = 229.6
RM-40
F=ET
HABRET 270 t=5cm 342.50 0.65 = 229.6

PK—3




+TEHEE
HE 397
Bic K &

DIP ¢ 150mm DP=1.2m

R R DIP ¢ 100 MR 132 m
SR 0.05 m BEE 098 m R+
BIFO 0.150 m B 019 m @B
AR 0.169 m BAE 015 m  FEEE
FHE S RS 065 m AS 0.05 m
PRHIZE R 1.46 1.46
SRR T
t=5cm 1.46 2 + 0.65 X 1 = 3.6
SRR U T
As t=10cmPL T 1.46 0.65 = 0.9
FE AR T
0.65 1.32 X 1.46 = 1.3
WERT (B4E+)
0.65 0.98 - 0.169 2
X
7 = 4 ) X 1.46 = 0.9
Ay T4 +) Skt
1.3 0.9 - 0.9 = 0.3
¥ AL T.(AS)
0.9 0.05 = 0.05
T E A T
FAYIAREA t=19cm 1.46 0.65 = 0.9
RC-40
LT
HARFERA t=15cm 1.46 0.65 = 0.9
RM-40
F=ET
HABRET 270 t=5cm 1.46 0.65 = 0.9

PK—3




+TEHEE
HE 397

DIP ¢ 75mm DP=1.3m

R R DIP ¢ 100 MRS 134 2 m
SR 0.05 m BEE  1.00 m R+
BIFO 0.075 m B 019 m @B
AR 0.093 m BAE 015 m  FEEE
FHE S RHIE 060 m AS 0.05 m
PRHI R 2.10 2.10
SRR T
t=5cm 2.10 X 2 + 0.60 X 0 = 4.2
EfiE R EUE T
As t=10cmPL 2.10 X 0.60 = 1.3
FE AR T
0.60 X 1.34 - 0.093 2
X 7 = 4 ) X 2.10 = 1.7
WERT (B4E+)
2.10 X 0.60 X 1.00 = 1.3
A TG4 1) Skt
1.7 - 1.3 - 0.9 = 0.3
Ly T.(AS)
1.3 X 0.05 = 0.1
T E A T
FAYARA t=19cm 2.10 X 0.60 = 1.3
RC-40
LT
HARMMA t=15cm 2.10 X 0.60 = 1.3
RM-40
F=ET
HABRET 270 t=5cm 2.10 X 0.60 = 1.3

PK—3




+TEHEE
HE 397

DIP ¢ 100mm DP=1.3m

R R DIP ¢ 100 MR 1.37 2 m
SR 0.05 m BEE  1.00 m R+
BIFO 0.100 m B 019 m @B
AR 0.118 m BAE 015 m  FEEE
FHE S RS 060 m AS 0.05 m
PRHI R 2.40 2.40
SRR T
t=5cm 2.40 2 + 0.60 X 0 = 4.8
EfiE R EUE T
As t=10cmPL 2.40 0.60 = 1.4
FE AR T
0.60 1.37 - 0.118 2
7 = 4 ) X 2.40 = 1.9
WERT (B4E+)
2.40 0.60 X 1.000 = 1.4
A TG4 1) Skt
1.9 1.4 - 0.9 = 0.3
¥ AL T.(AS)
1.4 0.05 = 0.1
T E A T
FAYIARA t=19cm 2.40 0.60 = 1.4
RC-40
LT
HARFERA t=15cm 2.40 0.60 = 1.4
RM-40
F=ET
HABRET 270 t=5cm 2.40 0.60 = 1.4

PK—3




T TEHEE
HijE 397
VP ¢ 75 DP=1.3m

R R VP ¢ 75 MRS 134 2 m
SR 0.05 m BEE  1.00 m R+
BIFO 0.075 m B 019 m @B
AR 0.089 m BAE 015 m  FEEE
FHE S RS 060 m AS 0.05 m
PRHI R 326.80 326.80
SRR T
t=5cm 326.80 2 + 0.60 X 0 = 653.6
EfiE R EUE T
As t=10cmPL 326.80 0.60 = 196.1
FE AR T
0.60 1.34 - 0.089 2
7 = 4 ) X 326.80 = 260.7
WERT (B4E+)
326.80 0.60 X 1.00 = 196.1
A TG4 1) Skt
260.7 196.1 0.9 = 42.8
Ly T.(AS)
196.1 0.05 = 9.8
T E A T
FAYIARA t=19cm 326.80 0.60 = 196.1
RC-40
LT
FARFRE t=15cm 326.80 0.60 = 196.1
RM-40
F=ET
HABRET 270 t=5cm 326.80 0.60 = 196.1

PK—3




+TEHEE
HE 397

VP ¢ 100mm DP=1.3m

R R DIP ¢ 100 BEARIEA. 137 m
HEWE 0.05 m BeEE 103 m R+
B 0.100  m 0.19 m TFERE
AR 0.118 m 0.15 m LEK®
AR S RHIE 0.60 m 0.05 m
PRHI R 618.90 618.90
EEE IR T
t=5cm 618.90 2 + 0.60 0 = 1237.8
SR T
As t=10cmPL 618.90 0.60 = 371.3
FERR R I T
0.60 1.37 - 0.118
7 = 4 ) 618.90 = 502.0
WERT (B4E+)
618.90 0.60 X 1.030 = 382.5
A TG4 1) A+
502.0 382.5 =+ 0.9 = 77.0
Ly T.(AS)
371.3 0.05 = 18.57
T E A T
FAYIARA t=19cm 618.90 0.60 = 371.3
RC-40
LT
HAERREE t=15cm 618.90 0.60 = 371.3
RM-40
F=ET
TR 7 23 t=5cm 618.90 0.60 = 371.3

PK—3







FLKEA R R

GXJ% ¢ 75mm
w B L B K& ¥oo& | W OAr
Ed A1 B T ¢ 75 637.0 m
o F o W LT ¢ 75 23 N
% & T EE ¢T75 154 |
% & T RGE ¢ 75 26 H
E2 & T GU>”7 ¢175 24 N
% = T PU>7 ¢ T5 1 |
w5 &k E L ¢ 75 14 5
72U A E R E L AE. 15 14 & pir
W ok B OB OBE L H 2 & BT
ook o & B L B 0 & BT
7 7 v vV fF F L ¢ 75 4 |
Vv vy p) MR ) ARk E L M35 2 1
A = Hh v FE L F¥ik ¢ 75 2 |
AT =J7 )V ik FESL L DIP ¢ 75 1 |
B &k B B W T DIP ¢ 75 2 N
g W\ os 7 — 7 L ¢ 75 756.7 m
% W oo v — b LT 635.7 m




B KE M E
GX# ¢ 100mm

w B L B K& ¥oo& | W OAr
Ed A1 B4 T ¢ 100 337.6 m
o F o W LT ¢ 100 24 H
% = T EE ¢ 100 82 |
iE2 & €L RICE ¢ 100 27 H
E2 & T GU>7 ¢ 100 29 o
% & T PU>Z7 ¢ 100 2 |
= 8w o B ' L ¢ 100 15 #
72U A E R E L AE. 15 15 & T
W ok B OB OBE L B 1 10
2/ N R S - S B 1 & BT
7 7 v vV fF F L ¢ 75 4 |
Vv vy p) MR ) ARk E L M35 2 1
A Hh = v F L ¥rik ¢ 100 2 |
AT =J7 )V ik FESL L DIP ¢ 100 3 |
B &k B B W T DIP ¢ 100 6 N
% W oor 7 — 7 T ¢ 100 436.8 m
% W oo v — b LT 336.3 m




B KE M E
GX# ¢ 150mm

w B L B K& 4 7
Ed A1 B T ¢ 150 1.5 m
o F o W LT ¢ 150 1 H
% = T EE ¢ 150 1 |
iE2 & €L RICE ¢ 150 1 H
A H = N F L ¥rik ¢ 150 1 |
AT =J7 )V ik FESL T DIP ¢ 150 1 |
B ok B B W T DIP ¢ 100 2 N
% W oor 7 — 7 T ¢ 150 1.5 m
% W oo v — b LT 0.4 m




BoOoEE B 2 (BdKE)



iyl LA Hh 1752 A R TERTEE | DRTTE | DRTTE VTR — AR
FRfE A VU-200
B N kg it 11° 22° 45° 22° 45° 300H 450H dT5X ¢ 75| ¢ 100X ¢ 75|¢p 100X ¢ 104 L 5%
GX ¢ 75 146 15 161 1 2 2 1 1 2 9 14 14
GX ¢ 100 71 13 84 1 2 2 3 2 4 1 7 8 15 15
GX ¢ 150 0 1 1
i 29 29
FE] FHTH 75 EE | e X;ﬂfﬁ;f i S A té?ﬁ% YokAfE | wkkemE R T SRR e R I R
"E‘?ﬁ b T5X ¢ 75| ¢ 100X ¢ 75| ¢ 75X 200L | ¢ 75X 200H | ¢ 75 X 200H B HO 500 X 690 500 X 690 ¢ 100X ¢ 75[ ¢ 150X ¢ 100| ¢ 100X ¢ 75 VPH DIPH
GX ¢ 75 2 2 2 2 2 4 1 1 756.7 635.7
GX ¢ 100 2 2 1 1 1 1 1 1 2 2 1 1 2 436.8 336.3
GX ¢ 150 1 1.5 0.4
7 4 1 3 1 3 1 3 60%: 973.5
. . BEAH Rl 1L R
ERE DR 147 | Gurz | P
BIGE KA
GX ¢ 75 26 17 24 1
GX ¢ 100 27 30 29 2
GX ¢ 150 1 1 1
e | oo | ALK T
N " IE%: A=V BEKPRE | TH AR E . Lyt p)—t O FpaxE S A=Ak BERR A G o )
R O AR L Ui T | = BpE | GUrs | PUvs o TIOBEE g e SANRGA T BYRF—7 T| #WiRs —h T
A = RS ML =) 7 oo | A w8 Oy a1 | TEME | o | )
GX ¢ 75 637.0 23 154 26 24 1 2 2 4 2 14 14 1 2 756.7 635.7
GX ¢ 100 337.6 24 82 27 29 2 2 1 1 2 15 15 3 6 436.8 336.3
GX ¢ 150 1.5 1 1 1 1 1 2 1.5 0.4




MRS

GX7¥ ¢ 75mm A T R 642.303
DP=1.0m FAMRILRE 636.993
M Bt Bl i BT B & 3 &
=8 # GX#& 4.000 146 584.000
H B (=3 GX# 1.000 1 1.000
M 2l 3 GX# 3.750 1 3.750
H B (=3 GX# 0.800 1 0.800
M 2l & GX# 1.000 1 1.000
H B (=3 GX# 3.800 1 3.800
M 2l & GX# 3.170 1 3.170
H B (=3 GX# 1.000 1 1.000
M 2l 3 GX# 1.000 1 1.000
4 owo'm o) GX'& 1.360 1 1.360
o o' o) GX# 1.770 1 1.770
AT - S G L GX'& 2.000 1 2.000
oo o' o) GX# 2.510 1 2.510
4 owo'm o) GX'& 0.850 1 0.850
oo o' o) GX# 3.500 1 3.500
4o wo'm o) GX'& 2.190 1 2.190
oo o' o) GX# 3.500 1 3.500
4 wo'm o) GX'& 0.800 1 0.800
oo o' o) GX# 1.990 1 1.990
4 owo'm o) GX'& 2.450 1 2.450
oo o' o) GX# 3.500 1 3.500
4o wo'm o) GX'& 2.420 1 2.420
z ) # GX#& 1.360 1 1.360
Z B (=3 GX# 1.980 1 1.980
it & 11 1/4° 0.340 1 0.340
it (=3 221/2° 0.360 2 0.720
it # 45° 0.400 2 0.800
[} = it (=3 221/2° 0.100 1 0.100
i =z ih w 45° 0.140 1 0.140
- % T ¥ dT5X ¢ 75 0.440 2 0.880
ik i GX# 0.190 4 0.760
F & 1T 3 & dT5X ¢ 75 0.440 2 0.880
AR RV T ¢ 75X 200L 2
27vv A ma R | 00N 2
AT L AR T A ke HO 2
¥ K gEs % | ¢500X690H 2 (FHEETe)




MRS

GX¥ ¢ 7T5mm i Hl T R 642.303
DP=1.0m FAMRILRE 636.993
Z) kB # # FRHE R B 8 i3
Y7 hY o= v 8 | L ¢75 0.490 9 4.410
A AR N R A I w5 ¢ 75 0.180 5 0.900
T o & J# & |H=510~690mm|| MR H A 14
\% U = ¢ 200 14
#% & il i RpE 26
£ & #h i FA4F 0.029 17 0.493
#% & il i PY> 7 0.180 1 0.180
£ & #h i GU»7 24
w ¥ 5| DIPA ¢ 75 1
& 4 LS VPH ¢ 75 1




MERE
GX¥ ¢ 100mm i Hl A R 342.500
DP=1.0m BB R 337.630
iz} ¥l Bl & MEHRE & B & HE R

=R & GX% 4.000 71 284.000
H ) e GX%& 2.450 1 2.450
H bl H GX% 0.850 1 0.850
H ) e GX%& 1.000 1 1.000
H bl H GX% 1.000 1 1.000
H 4] e GX%& 0.960 1 0.960
H b H GX’E 1.940 1 1.940
H 4] e GX%& 3.630 1 3.630
H bl H GX% 1.000 1 1.000
H ) e GX%& 1.000 1 1.000
H bl H GX& 3.370 1 3.370
H 4] e GX%& 2.160 1 2.160
o wmo® (M) GX% 1.170 1 1.170
o wmo®E (M) GX%& 2.550 1 2.550
o wmo#® (M) GX%& 1.740 1 1.740
o wmo® (M) GX%& 2.370 1 2.370
o wmo® (M) GX%& 1.910 1 1.910
o wmo® (M) GX%& 1.020 1 1.020
o wmo#® (M) GX%& 2.900 1 2.900
o wmo® (M) GX%& 1.160 1 1.160
o wmo#® (M) GX%& 2.510 1 2.510
o wmoE (M) GX%& 1.820 1 1.820
Z ) & GX% 1.040 1 1.040
Z =) & GX& 1.050 1 1.050




MRS

GX¥ ¢ 100mm i Hl A R 342.500
DP=1.0m BB R 337.630
iz} ¥l Bl & MEHRE & B & HE R
Z ) & GX& 1.040 1 1.040
it & 11 1/4° 0.360 1 0.360
i & 22 1/2° 0.380 3 1.140
i e 45° 0.420 2 0.840
] = i & 45° 0.160 2 0.320
Z O O/ % % | 100X 75 0.410 1 0.410
ooz K % F | ¢l00X ¢T75 0.410 1 0.410
= “ | ¢100%x300H 0.730 3 2.190
== % | ¢100x450H 0.780 2 1.560
- % T 5 ¥ ¢ 100X ¢ 75 0.440 4 1.760
= = T F % | $100X ¢ 100 0.470 1 0.470
F £ T % & | $6100X¢75 0.440 2 0.880
A A S ¢ 75X 200L 2
AT v L AR E R qbfjf_z%%H 1
AT b AR 2O K e B 1
1M X Es % | ¢500X690H 1 (FEETe)
il fE #o| ¢ 1
# o X W Ok & HO 1
Pk 7K ik £ | ¢500Xx690H 1 (FEate)
ik ) ¢ 100 0.200 2 0.400
] = 5] & ¢ 100 0.020 2 0.020
V7 Ny — AR g R | W ¢ 100 0.180 8 1.440
Y7 v — v AR 8 A | ZAFL ¢ 100 0.490 7 3.430
T 9 # &= JE 5 |H=510~690mm|{ &M% H 7 15




MRS

GXJ ¢ 100mm e AE R 342.500
DP=1.0m EANRIE K 337.630
izl Bt o) 1% FEHE R ¥ & AE £23
\% & ¢ 200 15
1 & il it RIGE 27
1% = il il 4 0.029 30 0.870
1z = il il PUL Y 0.180 2 0.360
1% &= il il GU>” 29
& e | VPH ¢ 100 2




HEAaE
GX¥ ¢ 150mm I OH i R 1.459
DP=1.2m FAMRILRE 1.459
Z) kB # # FRHE R B 8 i3
M ) i3 GX& 1.000 1 1.000
% A % & | 150X 100 0.420 1 0.420
H & il i RIGE 1
£ & #h i FA4F 0.039 1 0.039
(S 7 S SO I ¢ 150 5




g E W E

GXZ ¢ 150mm

L.=5.0m/A

HO)AE

O

U

ZYVE ()

R

YIwr

1.000

4.000

1

2]

1




g E G E GXJE ¢ 100mm L=4.0m/A

HO)AE ZAE CHE | CEEGN) R YIwr

1 2.450 1.170 & 0.380 2
2 0.850 2.950 & 0.600 2
3 1.000 1.040 1.740 & 0.220 3
4 1.000 2.370 & 0.630 2
5 0.960 1.050 1.910 & 0.080 3
6 1.940 1.040 1.020 & 0.000 3
7 2.900 & 1.100 1
8 1.160 & 2.840 1
9 3.630 & 0.370 1
10 1.000 2.510 & 0.490 2
11 1.000 1.820 & 1.180 2
12 3.370 & 0.630 1
13 2.160 & 1.840 1

24




g E G E GXJZ ¢ 75mm L=4.0m/A

Sik=Ik=s O1E oOrE | LEEG) PRE Gl

1 1.360 1.360 i 1.280 2
2 1.000 1.770 Z 1.230

3 3.750 Z 0.250 1
4 0.800 2.000 Z 1.200 2
5 1.000 2.510 Z 0.490 2
6 1.980 0.850 H 1.170 2
7 3.800 Z 0.200 1
8 3.500 FH 0.500 1
9 2.190 H 1.810 1
10 3.500 FH 0.500 1
11 3.170 0.800 Z 0.030 2
12 1.990 i 2.010 1
13 1.000 2.450 Z 0.550 2
14 3.500 H 0.500 1
15 1.000 2.420 Z 0.580 2
s 23




B —MNEHFE

(=3 £ GX ¢ 75mm GX ¢ 100mm GX ¢ 100mm 2t
BRI 636.993 337.63 1.459
H oK E 5 2 2 0

0.664 0.664 0.664
Mo E| 635.665| 336.302) 1.459)] 973.426 |
% G | 635.7 | 336.3 | 1.5 | 973.5 |
HERFRT—TEHFE
(=g £ ¢ 75mm ¢ 100mm ¢ 150 3
H (=3 146 71
7] =g 15 13 1
Mok R 756.7 436.8 8 1201.5
1ARH7=D 4.7 5.2 8.0
% F | 37.835 21.84 0.4 61]

#%:/20m



it = &



WMEEE

VP ¢ 7T5mm ¢ 100mm

[EA— B 1% B | H 7
EE D LT HEAL VP ¢ 75 618.9 m
EE D LT HEAL VP ¢ 100 326.8 m
e £ & b W T VP ¢ 75 182.0 u
e £ & b W T VP ¢ 100 96.0 u
o= ' OE R & 4t L=25kmLL F [
wm o= B WL 4 % 9.5 m




WMEEE

VP ¢ 7T5mm ¢ 100mm

[EA— B 1% B | H 7
EE D LT HEAL VP ¢ 75 618.9 m
EE D LT HEAL VP ¢ 100 326.8 m
e £ & b W T VP ¢ 75 182.0 u
e £ & b W T VP ¢ 100 96.0 u
o= ' OE R & 4t L=25kmLL F [
wm o= B WL 4 % 9.5 m




+THEFHEE (KBKE)



+ T MR R E
@
K
e
¢ 13~ ¢ 50
HE 397
ES e t=bcm 11.0 11.0 11
sEERREET | | | |
0.20BH t=10cmlL F 176.2 | 176.2 176
FE AR I T 0.20BH 132.1 | 132.1 132
PEHI T AT 11.9 11.9 12
WMRET (&EL) 0.20BH 45.6 45.6 46
WMRET AL 0.20BH 68.7 68.7 69
HET (L) A7 11.9 11.9 12
ALy T B+ 55.8 55.8 56
P+ Ay T AS 8.8 8.8 9
BAEDAEE | L
TE g T t=19cm 176.2 | 176.2 176
EIRAy A SR I R IR
b JE AT t=15cm 176.2 | 176.2 176
BASNET A2 |
FE T (FH) t=5cm PK3 176.2 | 176.2 176




IERAERTER

Z T4 .
HH f & F O a0 pii & &t
) FKE HiE HIVP ¢ 13~ ¢ 50 1.00 293.60




+TITHEE
HiE 3978
Bk

HIVP ¢ 13~ ¢ 50mm DP=1.0m

108f% AT NSRS HED L (175 7-0)  Z1F (0.5%1.0%0.9=0.4511)
) B 1k (0.5%1.0%0.3=0.1513)
MR HIVP ¢ 20~ ¢ 25 KBRS, 0.750 m
i 0.05 m MR 0.260 m pokek B4
BIEOME 0.020 m iR 0390 m AL
AR B 0.026 m Bz 019 m  FERE
IREIE 060 m W 015 m  EEpm
AS 0.05 m
PEHIIE 293.60 293.6
EREERRYIM T
t=5cm 4.00 2 + 0.60 X 5 = 11.0
ESERREUE T
As t=10cmLL T 293.60 0.60 = 176.2
AR T
293.60 0.60 X 0.750 = 132.1
NVALE < =T i) &P
0.45 7 + 0.15 X 58 = 11.9
HET (&E+)
0.60 0.26 - 0.026 2
7 - ) X 203.60 = 45.6
HMET (41)
293.60 0.60 X 0.39 = 68.7
ANERT G&4+)
11.9
Ay T R+
132.10 68.70  — 0.9 = 55.8
¥+ T(AS)
176.20 0.05 = 8.8
NEL R
HAYARE t=19cm 293.60 0.60 = 176.2
RC-40
b JE A T
FAERIFEE t=15cm 293.60 0.60 = 176.2
RM-40
=AM
F/EBRIEET 232 t=5em 293.60 0.60 = 176.2

PK—3







faKREMRE

w®OE T Bl i H = HA7
ME R =L EMER L 613 85.0 m
ME R =L EMKR L ¢ 20 309.3 m
ME R =L EMKR L ®25 84.9 m
ME R =L EMER L ¢ 30 28 m
ME R =LV EMKR L ¢ 40 4.7 m
ME R =L EMER L ¢ 50 42.0 m
2N NV 2 A (G - < S V. DIP ¢ 75X ¢ 20 60 & T
2N NV 2 A (G - < - S V. DIP ¢ 75X ¢ 25 10 & T
2 NV 2 (G - < S V. DIP ¢ 75X ¢ 30 3 & T
2 NV 2 A (G - < S V. DIP ¢ 75X ¢ 40 2 & T
2N NV 2 A (G R < - S V. DIP ¢ 75X ¢ 50 2 & T
PRV Sy ok R & A T DIP ¢ 100X ¢ 20 24 & AT
PRV 4y ok R & A T DIP ¢ 100X ¢ 25 7 & AT
PRV 4y ok R & A T DIP ¢ 100X ¢ 30 1 & AT
ROV 4ok e B AT VP ¢ 50X ¢ 25 2 B0
o 7 i + T ¢ 20~ ¢ 50 111 & AT
koK # OEm O T ¢ 20 48 & T
koK B OB O T ¢ 25 9 & T
koK # OE O T ¢ 30 2 & T
koK B OEB O T ¢ 50 2 & T
® Kk & W T ¢ 13 22 & T
® Kk & W T ¢ 20 29 & T
ok ®H W & L ¢ 13 7 & T
oKk E o w® F L ¢ 20 51 & T
R N Y R < S ¢ 25 3 & T
oKk E o w® F L ¢ 40 2 & T
g |\ R ¥ — b L 349.9 m
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20 y yivakte | GNE | UND | e | HveGm) | vroh |mamer | wvo7 | Revros | 2250 |T0RET | ciki | oS8 | 5 | ik |TEERCLL svie |ma| SR, | maer—x | 5-x
0| masE
R =4 * AEXFEAK | W | 0| m | A m | A m mEE: m P | fEd | PB | fEd | PB | EE | xEE | fEd | mER | M| mER | M) mER | M| PR | B | PR | EE | mER | EE | PR | ER | P | ER | MR | e | fEk [BEE: s | A | fEE

1 20 SVET 100X 30 1 30 2.0 30 1.0 30 3.0 30 2 30 2 30 1 30 1 30 1 b 1
2 13 A=H—ET 100X 25 1 25 2.3 25 1.0 25 3.3 25 2 25 6 25 1 25X13 1 25 1 25 1 25 1

13 1.0 13 1.0 13 1 13 2 13 2 13 1 13 1
3 13 A=—ET 100X 25 1 25 2.3 25 1.0 25 3.3 25 2 25 6 25 1 25X13 1 25 1 25 1 25 1

13 1.0 13 1.0 13 1 13 2 13 2 13 1 13 1
4 13 A=H—ET 100X 25 1 25 4.3 25 1.0 25 5.3 25 2 25 6 25 1 25X13 1 25 1 25 1 25 1

13 1.0 13 1.0 13 1 13 2 13 2 13 1 13 1
5 13 A=—ET 10020 1 20 4.3 20 1.0 20 5.3 20 2 20 6 20 1 20X13 1 20 1 20 1 20 1

13 | 10.0 13 10.0 13 1 13 2 13 1 13 1
6 13 A=—ET 10020 1 20 4.3 20 1.0 20 5.3 20 2 20 6 20 1 20X13 1 20 1 20 1 20 1

13 1.0 13 1.0 13 1 13 2 13 1 13 1
7 13 BE% 100X 20 1 20 | 3.2 25 3.2 25 1 25 1
8 13 A=H—ET 100X 20 1 20 4.3 20 1.0 30 5.3 20 2 20 6 20 1 20X13 1 20 1 20 1 20 1

13 1.0 13 1.0 13 1 13 2 13 2 13 1 13 1
9 13 A=—ET 10020 1 20 4.3 20 1.0 20 5.3 20 2 20 6 20 1 20X13 1 20 1 20 1 20 1

13 | 10.0 13 10.0 13 1 13 2 13 1 13 1
10 13 BE% 100X 20 1 20 | 3.2 20 | 1.0 20 4.2 20 1 20 1
11 13 A=H—ET 100X 20 1 20 4.3 20 1.0 20 5.3 20 2 20 6 20 1 20X13 1 20 20 1 20 1

13 1.0 13 1.0 13 1 13 2 13 2 13 1 13 1
12 13 A=H—ET 10020 1 20 4.3 20 1.0 20 5.3 20 2 20 6 20 1 20X13 1 20 1 20 1 20 1

13 | 10.0 13 10.0 13 1 13 2 13 1 13 1
13 13 A=—ET 10020 1 20 4.3 20 1.0 20 5.3 20 2 20 6 20 1 20 1 20 1 20 1

13 | 10.0 13 10.0 13 1 13 2 13 1 13 1
14 20 BE% 100X 20 1 20 | 3.2 20 3.2 20 1 20 1
15 20 ZIEDFET 100X 20 1 20 4.3 20 4.3 20 2 20 1 20 1 20 1 20 1
16 13 BER% 100X 20 1 20 | 3.2 25 3.2 25 1 25 1 25 1
17 13 A=H—ET 10020 1 20 4.3 20 1.0 25 5.3 25 2 25 6 25 1 25X13 1 25 1 25 1 25 1

13 | 10.0 13 10.0 13 1 13 2 13 2 13 1 13 1
18 20 A=H—ET 100X 20 1 20 4.3 20 1.0 20 5.3 20 4 20 8 20 1 20 2 20 2 20 1 20 1 20 1 20 1
19 13 BE% 100X 25 1 25 | 3.2 25 3.2 25 1 25 1
20 20 54 100X 20 1 20 | 0.1 20 0.1 20 1 20 1
21 20 BE% 100X 20 1 20 | 0.1 20 0.1 20 1 20 1
22 20 ZIEDFET 100X 20 1 20 0.7 20 1.0 20 1.7 20 2 20 2 20 1 20 1 20 1 20 1
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s y yivakte | GNE | UND | e | HveGm) | vroh |mamer | wvo7 | Revros | 2250 |T0RET | ciki | oS8 | 5 | ik |TEERCLL svie |ma| SR, | maer—x | 5-x
no| o sesE
X L4 FR ’ AEXHK | K [ A m | A m | AR m e m P | fEd | PB | fEd | PB | EE | xEE | fEd | mER | M| mER | M) mER | M| PR | B | PR | EE | mER | EE | PR | ER | P | ER | MR | e | fEk ke % | P | B

23 20 e 100 X 20 1 20 | 0.1 20 0.1 20 1 20 1
24 20 A=H—ET 100X20 1 20 0.7 20 1.0 20 1.7 20 4 20 8 20 1 20 2 20 1 20 1 20 1 20 1 20 1
25 13 RER% 100 X 20 1 20 | 0.1 20 0.1 20 1 20 1
26 20 A=—ET 100X20 1 20 2.3 20 2.0 20 4.3 20 4 20 8 20 1 20 2 20 1 20 1 20 1 20 1 20 1
27 20 RER% 100 X 20 1 20 | 0.1 20 0.1 20 1 20 1
28 13 A=H—ET 100X 25 1 25 2.3 25 1.0 25 3.3 25 2 25 6 25 1 25X13 1 25 1 25 1 25 1

13 | 10.0 13 10.0 13 1 13 2 13 2 13 1 13 1
29 13 A=—ET 100X 25 1 25 2.3 25 1.0 25 3.3 25 2 25 6 25 1 25X13 1 25 1 25 1 25 1

13 | 10.0 13 10.0 13 1 13 2 13 2 13 1 13 1
30 13 A=—ET 100X 25 1 25 2.3 25 1.0 25 3.3 25 2 25 6 25 1 25X13 1 25 1 25 1 25 1

13 1.0 13 1.0 13 1 13 2 13 2 13 1 13 1
31 20 A=—ET 100X20 1 20 2.3 20 2.0 20 4.3 20 4 20 8 20 1 20 2 20 1 20 1 20 1 20 1 20 1
32 20 e 100 X 20 1 20 | 0.1 20 0.1 20 1 20 1
33 13 A=H—ET 75X 20 1 20 1.4 20 1.0 20 2.4 20 2 20 6 20 1 20X13 1 20 1 20 1 20 1

13 1.0 13 1.0 13 1 13 2 13 2 13 1 13 1
34 13 A=H—ET 75X 20 1 20 1.4 20 1.0 20 2.4 20 2 20 6 20 1 20X13 1 20 1 20 1 20 1

13 1.0 13 1.0 13 1 13 2 13 2 13 1 13 1
35 20 RER% 75X 20 1 20 | 0.1 20 0.1 20 1 20 1
36 20 e 75X 20 1 20 | 0.1 20 0.1 20 1 20 1
37 20 A=H—ET 75X 20 1 20 1.4 20 2.0 20 3.4 20 4 20 8 20 1 20 2 20 1 20 1 20 1 20 1 20 1
38 20 RER% 75X 20 1 20 | 0.1 20 0.1 20 1 20 1
39 40 e 75X 40 1 40 | 0.1 40 0.1 10 1 40 1
40 20 RER% 75X 20 1 20 | 3.1 20 3.1 20 1 20 1 20 1
41 20 RER% 75X 25 1 25 | 3.1 25 3.1 25 1 25 1
49 40 e 75X 40 1 10 | 3.0 40 3.0 40 1 40 1
43 20 A=H—ET 75X 50 2 50 | 40.4 50 40.4 50 9 50 1 50 2 50 2 N 2 2

20 A=H—ET 50X 25 2 25 6.0 25 2.0 25 8.0 25 6 25 12 25 2 25X20 2 25 2

20 2.0 20 2.0 20 2 20 4 20 4 20 2 20 2 20 2 20 2
44 20 SIEDET 75X 20 1 20 4.3 20 1.0 20 5.3 20 2 20 2 20 1 20 1 20 1 20 1
45 13 A=H—ET 75X 20 1 20 4.3 20 1.0 20 5.3 20 2 20 6 20 1 20X13 1 20 1 20 1 20 1

13 1.0 13 1.0 13 1 13 2 13 2 13 1 13 1
46 13 A=H—ET 75X 20 1 20 4.3 20 1.0 20 5.3 20 2 20 6 20 1 20X13 1 20 1 20 1 20 1

13 1.0 13 1.0 13 1 13 2 13 2 13 1 13 1
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s y yivakte | GNE | UND | e | HveGm) | vroh |mamer | wvo7 | Revros | 2250 |T0RET | ciki | oS8 | 5 | ik |TEERCLL svie |ma| SR, | maer—x | 5-x
n YR
X 4 Fr § AEXEAR | %% | R m [BEE m A m [BEES m AR | 5| R | s | pg | SR | X P s | SR | pAR | SR | PR | EE | AR | R | AR | SR | PAR | ES | neR | EE | e | R | osR | ES | | nfR | Esk [REES e | nfg | 1E%
47 13 Ih—FET 75X20 1 20 | 4.3 20 | 1.0 20 5.3 20 2 20 6 20 1 |20x13]| 1 20 1 20 1 20 1
13 ] 1.0 13 1.0 13 1 13 2 13 2 13 1 13 1
48 20 Ih—FET 75X 20 1 20 | 4.3 20 | 2.0 20 6.3 20 4 20 8 20 1 20 2 20 1 20 1 20 1 20 1 20 1
49 20 Ih—FET 75X20 1 20 | 4.3 20 | 2.0 20 6.3 20 4 20 8 20 1 20 2 20 1 20 1 20 1 20 1 20 1
50 20 BER% 75X 20 1 20 | 3.8 20 3.8 20 1 20 1 20 1
51 20 BER% 75X 20 1 20 | 3.8 20 3.8 20 1 20 1 20 1
52 20 554 75X20 1 20 | 3.8 20 3.8 20 1 20 1 20 1
53 20 BER% 75X20 1 20 | 3.8 20 3.8 20 1 20 1 20 1
54 20 ZAEDET 75X 20 1 20 | 4.3 20 | 1.0 20 5.3 20 2 20 2 20 1 20 1 20 1 20 1
55 20 554 75X 20 1 20 | 3.8 20 3.8 20 1 20 1 20 1
56 13 BER% 75X 20 1 20 | 3.8 20 3.8 20 1 20 1 20 1
57 20 BER% 75X 20 1 20 | 0.1 20 0.1 20 1
58 20 554 75X 20 1 20 | 0.1 20 0.1 20 1
59 20 Ih—FET 75X 30 1 30 | 0.7 30 | 14.0 30 14.7 30 3 30 6 30 1 30 1 FL 1 1 30X 20 1
20 | 2.0 20 2.0 20 1 20 2 20 2 20 1 20 1 20 1 20 1
20 Ih—FET 20 | 2.0 20 2.0 20 1 20 2 20 2 20 1 20 1 20 1 20 1 30X 20 1
20 Ih—FET 20 | 2.0 20 2.0 20 1 20 2 30%20 [ 1 20 2 20 1 20 1 20 1 20 1 30 1
20 Ph—FET 20 | 2.0 20 2.0 20 1 20 2 30%20 [ 1 20 2 20 1 20 1 20 1 20 1
60 20 Ih—FET 75X 25 1 25 | 0.7 25 | 12.0 25 12.7 25 3 25 6 25 1 25 1 25 1 25 1 25X20 1
20 | 2.0 20 2.0 20 1 20 2 20 2 20 1 20 1 20 1 20 1
20 Ih—FET 20 | 2.0 20 2.0 20 1 20 2 20 1 | 25%20 | 1 20 2 20 1 20 1 20 1 20 1 25 1
20 Ph—FET 20 | 2.0 20 2.0 20 1 20 2 20 1 | 25%20 | 1 20 2 20 1 20 1 20 1 20 1
61 20 BER% 75X 20 1 20 | 0.1 20 0.1 20 1
62 20 BERR 75X 30 1 30 | 3.3 30 3.3 30 1 30 1
63 20 Ph—FET 75X 20 1 20 | 4.3 20 | 2.0 20 6.3 20 4 20 8 20 1 20 2 20 1 20 1 20 1 20 1 20 1
64 20 Ph—FET 75X 20 1 20 | 4.3 20 | 2.0 20 6.3 20 4 20 8 20 1 20 2 20 1 20 1 20 1 20 1 20 1
65 20 A=H—FET 75%20 1 20 | 4.3 20 | 2.0 20 6.3 20 4 20 8 20 1 20 2 20 1 20 1 20 1 20 1 20 1
66 20 ZAEDET 75X 20 1 20 | 4.3 20 | 1.0 20 5.3 20 2 20 2 20 1 20 1 20 1 20 1
67 25 BER% 75X 25 1 25 | 0.1 25 0.1 25 1 25 1
68 20 BERR 75X 25 1 25 | 0.1 25 0.1 25 1 25 1
69 20 554 75X 20 1 20 | 0.1 20 0.1 20 1 20 1
70 20 Ih—FET 75X20 1 20 | 4.3 20 | 2.0 20 6.3 20 4 20 8 20 1 20 2 20 1 20 1 20 1 20 1 20 1
71 20 A=H—FET 75%20 1 20 | 4.3 20 | 2.0 20 6.3 20 4 20 8 20 1 20 2 20 1 20 1 20 1 20 1 20 1
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s y yivakte | GNE | UND | e | HveGm) | vroh |mamer | wvo7 | Revros | 2250 |T0RET | ciki | oS8 | 5 | ik |TEERCLL svie |ma| SR, | maer—x | 5-x
n YR
X 4 Fr § AEXEAR | %% | R m A m A m [BEES m AR | 5| R | Bk | og | gk | <P g | EER | paR | ES | Rk | B | AR | gk | og | SR | PR | s AR | k| pR | ESK B a8 | neR | ek [REES fiE% 7| %
72 20 7% 75X20 1 20 | 0.1 20 0.1 20 1 20 1
73 25 BER% 75X 25 1 25 | 0.1 25 0.1 25 1 25 1
74 20 AH4—ET 75%20 1 20 | 0.7 20 | 2.0 20 2.7 20 4 20 8 20 1 20 1 20 1 20 1 20 1 20 1 20 1
75 20 Ih—FET 75X20 1 20 | 0.7 20 | 2.0 20 2.7 20 4 20 8 20 1 20 1 20 1 20 1 20 1 20 1 20 1
76 20 BER% 75X 20 1 20 | 0.1 20 0.1 20 1
77 13 BER% 75X 30 1 30 | 0.1 30 0.1 30 1 330 | 1
78 20 ZAEDET 75X20 1 20 | 0.7 20 | 1.0 20 1.7 20 2 20 2 20 1 20 1
79 20 BER% 75X20 1 20 | 0.1 20 0.1 20 1
80 20 BERR 75X 20 1 20 | 0.1 20 0.1 20 1
81 20 54 75X 20 1 20 | 0.1 20 0.1 20 1
82 20 Ih—FET 75X 20 1 20 | 0.7 20 | 2.0 20 2.7 20 4 20 8 20 1 20 1 20 1 20 1 20 1 20 1 20 1
83 20 BERR 75X 20 1 20 | 0.1 20 0.1 20 1
84 20 7% 75X 20 1 20 | 0.1 20 0.1 20 1
85 20 BER% 75X 20 1 20 | 0.1 20 0.1 20 1
86 20 AH4—ET 75%20 1 20 | 0.7 20 | 2.0 20 2.7 20 4 20 8 20 1 20 1 20 1 20 1 20 1 20 1 20 1
87 25 7% 75X 25 1 25 | 0.1 25 0.1 25 1 25 1
88 20 BER% 75X 20 1 20 | 0.1 20 0.1 20 1
89 20 BERR 75X 20 1 20 | 0.1 20 0.1 20 1
90 20 7% 75X 25 1 25 | 0.1 25 0.1 25 1 25 1
91 20 BER% 75X 20 1 20 | 3.8 20 3.8 20 1 20 1 20 1
92 20 BERR 75X 20 1 20 | 3.8 20 3.8 20 1 20 1 20 1
93 20 54 75X 20 1 20 | 3.8 20 3.8 20 1 20 1 20 1
94 20 BER% 75X 20 1 20 | 3.8 20 3.8 20 1 20 1 20 1
95 20 BER% 75X 20 1 20 | 3.8 20 3.8 20 1 20 1 20 1
96 13 Ph—FET 75X 20 1 20 | 4.3 20 | 1.0 20 5.3 20 2 20 6 20 1 | 20x13]| 1 20 1 20 1 20 1
13| 1.0 13 1.0 13 1 13 2 13 2 13 1 13 1
97 20 BER% 75X 20 1 20 | 3.8 20 3.8 20 1 20 1 20 1
98 20 Ih—FET 75X 20 1 20 | 4.3 20 | 2.0 20 6.3 20 4 20 8 20 1 20 2 20 1 20 1 20 1 20 1 20 1
99 20 Ih—FET 75X 20 1 20 | 4.3 20 | 10.0 20 14.3 20 4 20 8 20 1 20 2 20 1 20 1 20 1 20 1 20 1
100 20 BERR 75X 25 1 25 | 3.8 25 3.8 25 1 25 1
101 13 Ph—FET 75X 25 1 25 | 4.3 25 | 1.0 25 5.3 25 2 25 6 25 1 | 25%x13| 1 25 1 25 1 25 1
13 ] 1.0 13 1.0 13 1 13 2 13 2 13 1 13 1
102 20 BERR 75X 20 1 20 | 3.8 20 3.8 20 1 20 1 20 1
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s y yivakte | GNE | UND | e | HveGm) | vroh |mamer | wvo7 | Revros | 2250 |T0RET | ciki | oS8 | 5 | ik |TEERCLL svie |ma| SR, | maer—x | 5-x
A BRIk
[ -4 Fr & AEXFEAR | B | | m A% | m A | m [RE2 m AR | EE | P | Ed | PR | EE | X AR | EE | PR | RS | AR | SR | AR | SR | mAR | SR | meR | SR | meR | EE | ot | EE B a8 | neR | ek [REES 1E% | %
103 20 G4 75X 20 1 20 | 3.8 20 3.8 20 | 1 20 | 1 20 | 1
104 20 WERR 75X 25 1 25 | 3.8 25 3.8 25 | 1 25 | 1
105 20 BE% 75%20 1 20 | 3.8 20 3.8 20 1 20 1
106 13 A=h—FET 75X 20 1 20 | 0.7 20 | 1.0 20 1.7 20| 2 | 20| 6 | 20| 1 |20x13]| 1 20| 1 [ 20] 1 |2 | 1
13 | 1.0 13 1.0 13| 1 13 | 2 13| 2 13| 1 13| 1
107 20 AH—FT 75X 20 1 20 | 0.7 20 | 2.0 20 2.7 20 | 4 | 20| 8 | 20| 1 20| 2 20 1 |2 | 1 ]2 | 1 ]2 ]| 1|2 ] 1
108 20 A=h—FET 75X 20 1 20 | 0.7 20 | 2.0 20 2.7 20 | 4 | 20| 8 | 2 | 1 20| 2 [ 20 1 |2 | 1 ]2 | 1 ]2 | 1|2 ] 1
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275 ' yivakte | GNE | UND | e | HveGm) | vroh |mamer | wvo7 | Revros | 2250 |T0RET | ciki | oS8 | 5 | ik |TEERCLL svie |ma| SR, | maer—x | 5-x
0o sARsE
(X B4 B § AEXEAR | %% | R m [BEE m A m [BEES m AR | 5| R | s | pg | SR | X P s | SR | pAR | SR | PR | EE | AR | R | AR | SR | PAR | ES | neR | EE | e | R | osR | ES | | nfR | Esk [BE:S e | nfg | 1E%
HIVPAE & (i) "’fg; 293.6
HIVPAE & (J5ii) "’fg; 0.0
7?;%&’)2‘)&? ‘*”;go” 56.3 75X 20 60 13 | 85.0 13 85.0 13122 | 1334 | 13| o0 [20x13|13 | 13 | 44 13 | 22 | 13| 22 N2 3 30X 20 2 13 0
TR H3E 349.9 75X 25 10 20 |202.8 | 20 | 0.0 20 | 83.0 | 20 268.8 20 | 144 | 20 | 272 | 20 | 71 | 25%20 | 4 20 | 54 | 20 | 81 | 20 | 48 |500L| 56 | 20 | 29 | 20 | 29 A 25% 20 1 20 0
e o 56 75X 30 3 25 | 412 | 25 | 0.0 25 | 21.0 | 25 73.9 25 | 27 | 25 | 66 | 25 | 21 | 30x20| 2 25 | 0 25 |22 | 25 | 9 25 | 0 25 | 0 ol o1 25 1
LIEDFETHE 6 75X 40 2 30 | 6.1 30 | 0.0 30 | 15.0 | 30 26.4 30 | 5 30 | 8 30 | 3 |25x13| 8 30 | o 30 | 2 30 | o 30 | o 30 | 2 30 1
A=A—F TR 51 75X 50 2 40 | 3.1 40 | 0.0 40 | 0.0 40 3.1 40 | 1 40 | 0 40 | 1 40 | 0 40 | 2 40 | 0 40 | 0 40 | 0 40 0
SVETHE 1 100X 20 24 50 | 40.4 | 50 | 0.0 50 | 0.0 50 40.4 50 | 9 50 | 0 50 | 1 50 | 0 50 | 2 50 | 0 50 | o 50 | 2 1 50 0
FaAKETEE L 13 TE T 100X 25 7
FaAKETEE L 20 518 100X 30 1
FaAKETEE L 25 3T 100X 40 0
FaAKETEE L 30 O T 100X 50 0
FaAKETEE L 40 20T 50X 25 2
FRKE TR T 50 Of# A G 111 | 2936 | & 0.0 E 204.0 | & 497.6 [ 208 | F | 380 | F 97 g 27 g 98 g 109 | # 57 7 56 | & 51 7 51 7 4 7 4 3 5 0 3 G 2




7 277\ NI B

3cm 0.078 0.0000
4cm 0.104 0.0000
S5cm 0.130 3833.7 4.9838
bcm 0.152 0.0000
Tcm 0.174 0.0000
10cm 0.240 0.0000
llecm 0.262 0.0000
15cm 0.350 0.0000
20cm 0.460 0.0000
25cm 0.570 0.0000
26cm 0.592 0.0000
30cm 0.680 0.0000
i 3833.7 4.9838

EXe 4.98
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ME Btk ® HAL
HIVPEE ¢ 50mm ZN
HIVPT /LR ¢ 50mm 1E
HI& B A LT ok ¢ 50mm 1E
A= L7 ¢ 50mm ]
POENT LR ¢ 65mm X ¢ 50mm {#]
HkeTHE 75— (i
SV T R I A il ¢ 150 1E]
PSIVT Ry I A PVCHL ¢ 200 1E]




